A 2 o & A

SA: AR =X
M A=A SEX

|
Rl ARSI AHIA

Al A

& (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 374,572,242 378,088,297 A3,516,055
= 255,383, 152
[ 13,845,881
= 105,343,209
A2ISX SEXE 18,117,095 30,525,373 A12,408,278
= 1,394,125
= 9,279,000
= 7,443,970
A2IS X AHIA ghat 17,847,020 18,293,168 A446,148
= 1,394,125
[ 9,279,000
= 7,173,895
KANSTHEE MalMEIA SEXAIS 10,506,910 9,821,920 684,990
= 8,867,000
= 1,639,910
308 XXM SOIA 10,506,910 9,821,920 684,990
= 8,867,000
== 1,639,910
01 HREHH B EES 10,506,910 9,821,920 684,990
OXIS Ata MHI A XHARE 10,506,910
= 8,867,000
< 1,639,910
SHAMSSXE3 28 & MAFX22H20F 22l X 1,019,500 879,500 140,000
_‘?‘;_]

307 212t01& 1,019,500 879,500 140,000
10 Al2ISTIAIEEE 22X 723,900 648,900 75,000
OsEAIsIlss2=3 28 X 100,000
OFgAtzl=XEs 28 N3 575,000
OsEAMaIZEXAEE 29 K& 8,900
OALRIS AL CHETIH TS &8 o124 40,000
11 AMRISXAEEES 295,600 230,600 65,000
Ooglzt=1 g4 & STAE 210,600
OAL2ISXIAL QHETIH 5 60,000
OAt2IS A2 SAHL SEdatAte & 25,000

NS At 2 ZE2AM XIS 18,000 9,000 9,000
= 9,000
= 9,000

308 AtXIEHMSOIE 18,000 0 18,000
= 9,000
= 9,000

01 AXENBELES 18,000 0 18,000
OXNSA2 2HE M NS 18,000

= 9,000




SA: ABI=XID
M All=K SEAEA
St ARISX MHIA gFaf (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 9,000
NSARI 2SN 28 dat N2 76,500 75,000 1,500
308 AHAIEHMSOIH 76,500 75,000 1,500
01 AXEHBSEES 76,500 75,000 1,500
OXSAtzI 28N gdat 28 X 76,500
KNSARI X 2= 268,570 362,570 284,000
301 EtE NS 20,000 20,000 0
14 JIEt2 83 20,000 20,000 0
Oczz &8l ?Izs K& 20,000
307 elzto| & 113,770 113,770
11 AMEISXAIEES 113,770 113,770
OALRIS XA SEAeAE X1 13,770
OFSAHE SXNSS A 100,000
308 AHXIHMS0IA 134,800 78,800 56,000
01 RSN EES 134,800 78,800 56,000
OAt2I=TIA B0 =SH| X3 44,800
OOMAL AtRIS XIS D184 A IR 10,000
OHEHAl ALRIZ XA & XI& 10,000
OHetAl 223 AHH0A 30,000
OMISXSFE A5 U= 15,000
OXSAtel Hoiel LisE23t shateler ol
ct 7= 20,000
OAt S 2SS AT J&X[AS 5,000
NEXEE MIIMHIA EXAIL(XYFE 2) 330,000 325,000 5,000
[ 231,000
= 99,000
308 AHXIHMSO0IA 330,000 325,000 5,000
= 231,000
= 99,000
11 SIS0t 4 A A A 330,000 325,000 5,000
O NGARIMEIAXAE 22 330,000
= 231,000
== 99,000
ARISKIAIE SAHAF OIS K& 563,925 645,149 A91,224
= 387,748
= 166,177
308 AtXIEMSOIE 553,925 645,149 N91,224
= 387,748
= 166,177
11 S [2S0 e 4 EAS A 553,925 645,149 N91,224
OAISISXIAIE AL THAIQE KR 563,925
= 387,748




SA: ABI=XID
M All=K SEAEA
=2 ARISX MBIA et (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 166,177
ANSTHEE MAMEIA ENAIE R el 2 129,310 127,179 2,131
= 90,517
= 38,793
307 212+01& 129,310 127,179 2,131
= 90,517
=S 38,793
05 2ItRIE = 129,310 0 129,310
OXISAtSI AHI A S AL 129,310
= 90,517
< 38,793
HRLIEBIO (MBI2) 150,000 2,241,850 /2,091,850
308 XM SOIE 150,000 2,241,850 /2,091,850
01 X SHHBAEXS 150,000 2,241,850 22,091,850
OXIgAtel SE=S At 150,000
MBI AHIAE 2S 4,184,880 3,722,000 462,880
= 859,860
= 3,325,020
306 £= 2,249,160 1,800,000 449,160
01 2d= 2,249,160 1,800,000 449,160
OFgAt2lMbIAH 29 1,983,170
OsdEE SN e 258,990
OAII MBIAS AN S8dst & SE 22| 6,300
OXNEHEE =sXE WA= 700
308 XXM SOIA 1,935,720 1,922,000 13,720
= 859,860
== 1,075,860
11 SIS0t oA AS A 1,935,720 1,922,000 13,720
OB gAtalMbIAR 2Y 1,935,720
= 859,860
< 1,075,860
25 SMES XN AIEAE 94,000 94,000 0
= 47,000
= 47,000
308 AFAIEHMSOIH 94,000 94,000 0
= 47,000
= 47,000
11 SIS0t oA A A 94,000 94,000 0
O2g SM=Es X3 At 94,000
= 47,000
== 47,000
AMNEBISTIAE SAXE A= X1 (RHAI) 100,000 0 100,000




SA: AR =X
2 A=A S

St ARISX MHIA gFaf (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 100,000 0 100,000
11 SIS0t oA AS A 100,000 0 100,000
OAMEISXIAIE SARF CHAQIZ IR (XHA) 100,000
)IIOiIf%%‘ ABIMBIA SXIAIE (HE0HS U RIZ ALY 216,625 0 216,625
[ 181,000
= 35,625
308 AtAIEHMSOIE 216,625 0 216,625
[ 181,000
= 35,625
01 AXH B2 LS 216,625 0 216,625
OFHNISAL NS 216,625
s 181,000
s 35,625
SHERSEHE 198,800 0 198,800
201 fer23y| 11,000 0 11,000
01 AtR2t2|HI 11,000 0 11,000
OsdgE 22801 N U2A%s 23 11,000
308 XM SOIE 187,800 0 187,800
01 AXEH B EES 187,800 0 187,800
Osdd =387t XA 187,800
ARSI AlE =5 & X3 270,075 12,232,205 A11,962,130
ARISXIAE RIE2 40,000 40,000 0
301 EtE NS 40,000 40,000 0
01 AR E2EH 2GS (RNEETHE) 40,000 40,000 0
OAtISIIAIE /E 40,000
SEAMEIEX2 JIs2E 23,000 88,120 265,120
403 MR HHMSAHE01H 23,000 80,300 A57,300
01 A= 2L 23,000 80,300 A57,300
OZMeI=EIZ Jls2d 23,000
ARISRIAIE 22 MLHE & K2 207,075 203,572 3,503
307 212t01& 22,620 20,880 1,740
10 Al2ISTIAEEE2HIEX 22,620 20,880 1,740
OsEZANEHH XM2HA 22,620
308 XXM SOIA 184,455 182,692 1,763
01 XN BSELES 184,455 182,692 1,763
OXNSA2HE SALAF XMIH&H] 39,483
OSEAt2SA2 SAHL XMW EH] 88,668
OL=0aH SAMA MR 2,844
OXISA2HE SALL S¥g4H] X 16,920
OSEAMISXI2 SAHA Al K& 36,640
OL=0laH SAHA ZHZ4H| A2 900
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FA SIS
Mo 20| EMBEY
Bl JIEZMEEE 25 2 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FSESPNI=10 1,678,500 1,458,820 219,680
= 1,533,000
== 145,500
308 AXIMSOIA 1,678,500 1,458,820 219,680
= 1,533,000
< 145,500
01 HASHHBAEEXS 1,678,500 1,458,820 219,680
O FpSPN[E=10 1,678,500
= 1,533,000
= 145,500
WSS (SHAE ) 556,907 421,630 135,277
308 XtXIEMSO0IE 556,907 421,630 135,277
08 W=J| 202X 566,907 421,630 135,277
Ousg0 566,907
FI=1=)N 12,944,250 10,694,250 2,250,000
= 11,506,000
< 1,438,250
308 AtAIEHMSOIE 12,944,250 10,694,250 2,250,000
= 11,506,000
= 1,438,250
01 HAHHBSEXRS 12,944,250 10,694,250 2,250,000
(@FdF=1=INPNLZ! 12,944,250
= 11,506,000
= 1,438,250
SEAtel2telA 2124H] X~ 1,167,027 1,147,770 19,257
= 897,714
< 269,313
308 AXIHMSOIA 1,167,027 1,147,770 19,257
= 897,714
< 269,313
01 HASHHBAEEXS 1,167,027 1,147,770 19,257
OSEAtdll2tel At 21218] I 1,167,027
[ 897,714
= 269,313
AZ7 SEAtd2te] K& 142,500 132,500 10,000
s 112,500
s 30,000
308 XXM SOIA 142,500 132,500 10,000
= 112,500
< 30,000
01 XN B2 LS 142,500 132,500 10,000
OAlZ2=t SEAtdl2el X1 112,500




FA SIS
B 20| EMBIE
Gl JIZMEEE 2 2 KR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 112,500
O120t5 D= AF 0l SA4181 XA 30,000
SHS Y54 SEAMHA X 1,466,000 1,217,160 248,840
= 1,436,000
=S 30,000
308 XXM SOl 1,466,000 1,217,160 248,840
= 1,436,000
< 30,000
01 XN BSELES 1,466,000 1,217,160 248,840
Osds X588 SEAMHIL NE 1,436,000
= 1,436,000
OIS g X HA 30,000
NSAtl2 208 & 23z 28 N2 94,565 91,830 2,735
201 eer23| 10,625 10,625 0
01 AtR2t2|HI 10,625 10,625 0
OXNGA2 3 A& € ?l283 =29 10,625
308 AtXIEHMSOIE 83,940 81,205 2,735
01 AXHH B EES 83,940 81,205 2,735
Ood=7|Iskad 2N 83,940
22, ANGNEdE & 2ANSHH2E(MZ, 2 21,328,550 21,496,291 A167,741
2)
= 19,312,699
< 2,015,851
308 AXIMSOIA 21,328,550 21,496,291 A167,741
= 19,312,699
S 2,015,851
01 HASHHBSEXS 21,328,550 21,496,291 A167,741
ongz2=z 21,328,550
= 19,312,699
= 2,015,851
ANe22, NAMady & 2ANSHH2S (A2, Al 52,203 24,873 27,330
2l)
= 42,991
== 9,212
308 AHXIEMSOIH 52,203 24,873 27,330
= 42,991
= 9,212
01 HAHHBSEEXS 52,203 24,873 27,330
OXH& Atedl 2l 52,203
[ 42,991
= 9,212
ANe22, NANEdy 2 292 (Mzdd 3,954,256 3,702,785 251,471
)




FA SIS
B 20| EMBIE
Gl JIZMEEE 2 2 KR (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,256,441
=S 697,815
308 XXM SO0l 3,964,256 3,702,785 251,471
= 3,256,441
== 697,815
01 XN BSELES 3,954,256 3,702,785 251,471
OXNSAtgHy =4 3,994,256
= 3,256,441
= 697,815
NE2Z, NANSBUE L ZANBHHSS (T, € 608,938 506,557 8,361
)
= 422,757
= 181,181
307 elztol & 603,938 595,557 8,381
= 422,757
== 181,181
10 Al SXAIEEHE2EHI2x 603,938 595,557 8,381
OsgZgigy 29 N3 603,938
= 422,757
< 181,181
2essJsrs M2 (MZEY) 7,841,906 3,904,019 3,937,887
= 7,455,610
= 386,296
308 AFAIEHMSOIH 7,841,906 3,904,019 3,937,887
= 7,455,610
=S 386,296
01 XN B2 LS 7,841,906 3,904,019 3,937,887
OTRSAASHSNAL+T A (T4
AN S%) 7,841,906
= 7,455,610
< 386,296
NATESE AMSIMEIA SXHARS (OFARE) 1,345,958 1,345,958 0
[ 1,140,000
= 205,958
308 AHXIHMS0IA 1,345,958 1,345,958 0
= 1,140,000
= 205,958
01 AXNBEES 1,345,958 1,345,958 0
OJtartg gz XI& 1,345,958
= 1,140,000
== 205,958
C=0EH2Y 71,460 67,522 3,938
201 er=23y| 1,000 0 1,000




SA: AR =X

XE: Z20|J|x

AH
e ;IE'E@%;_Z ?Oé & X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,000 0 1,000
=0l EH A BIIRIA ¢ 1,000
308 AXIHSOIA 70,460 67,522 2,938
01 HXHHBAEES 70,460 67,522 2,938
Ok=¢l &H 29 & 70,460
HEX2H X 3,047,980 8,361,654 Ab,313,674
= 1,829,520
= 1,218,460
308 AFXIEHMSOIE 3,047,980 8,361,654 A5,313,674
= 1,829,520
=S 1,218,460
01 XN B2 LS 3,047,980 8,361,654 N\b,313,674
OdaXzd N 3,047,980
= 1,829,520
< 1,218,460
SYAFLBI0IN 29 2,400 0 2,400
[ 2,400
308 AtXIEMSOIH 2,400 0 2,400
= 2,400
01 XN B EES 2,400 0 2,400
O8&+IHI0IY 2 2,400
= 2,400
AAIZRIEE AN (A2 22 S 0{242IAH) 1,003,439 0 1,003,439
[ 847,776
= 155,663
308 AFAIEHMSOIE 1,003,439 0 1,003,439
= 847,776
= 155,663
01 XN B2 LS 1,003,439 0 1,003,439
OAlZ 22302 AP 21248| 1,003,439
= 847,776
== 155,663
=0 i JIs:Ed 17,000 0 17,000
= 10,000
= 7,000
403 AXIEHMSAH=Z01d 17,000 0 17,000
= 10,000
= 7,000
01 AXEHM A =2 £ 17,000 0 17,000
=0 4d JIse 17,000
= 10,000
=S 7,000




SA: AR =X

M ARSI AR
SRl ARSI A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2IS X AIZ=Z 10,215 10,215 0
ARSIl A=A 10,215 10,215 0
NI DNIUNES B 10,215 10,215 0
203 =8| 10,215 10,215 0
03 A=A H R FZ| 10,215 10,215 0
OAtgl =l gF=2 2,565
OFg g4 7,650
MHeas(AE =X 60,708,687 57,916,636 2,792,051
HEHHXIZ (AL2I =X 1t) 60,708,687 57,916,636 2,792,051
2g0l= SEH dEs 60,708,687 57,916,636 2,792,051
701 JIEtSI HSHES 60,708,687 57,916,636 2,792,051
01 JIEtI AN ES 60,708,687 57,916,636 2,792,051
OflzgWll= S8 HE= 60,708,687
HY2AHHI(AIEIS R 167,632 58,257 109,375
= 87,500
< 80,132
Jl228I (A3 S X1 58,257 58,257 0
J123HI(AIEIS X1 58,257 58,257 0
201 fet=23y| 27,455 27,455 0
01 AtR2te|HI 27,455 27,455 0
OAtgl =l g2 27,455
202 04| 27,022 27,022 0
01 =LHOLI 27,022 27,022 0
OAtzl=Xl g2 27,022
203 HR=H] 3,780 3,780
04 A2 LRFAI 3,780 3,780
OAt2I= Al gf=d 3,780
oI (2SS 022l AL 109,375 0 109,375
[ 87,500
= 21,875
AAZRIEERAINE (C 22 S0 2A2IA 109,375 0 109,375
[ 87,500
= 21,875
101 e124d| 109,375 0 109,375
= 87,500
S 21,875
03 SR (RINAHA) 222+ 109,375 0 109,375
Ok Sg=02clAr iy 109,375
= 87,500
== 21,875
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